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a. Where does this conversation probably take place?
b. Where did it happen?
. Where is. . . ?

c
d. What kind of store is she going to?

ING - EEHBAL K, LA ENARER A, MEFEELEMXBAFL
BAEHFFERELR EHANHEECERN, R EHATER N H I,
5] : W: Can I help you, sir?
M: Yes. Can you show me the way to Gate 9 for Flight 901 to Hong Kong? I am quite confused

here.

Q: Where does the conversation most probably take place?

4 A) At a booking office. B) In a Hong Kong hotel.
C) On a busy street. D) At an airport. [0312,047"
(BERID). ABAGEEME . NFH KBRS, BRIV ] “Gate 9, Flight 901”% 5 517 , i 1t
A AT 0 1 & AL .

FSf [ R R — i 25 £ 2 A e T ) BRI RE T 42 A Gt ] MR B . A 5 U PR A 1] i
— i () A s EOR AR A W AR R T A

a. When does the conversation take place?

b. When does the man want to leave?

c. How long did it take the man to write his paper?
d. When did the football match start?

ING A SR K- A EAR, E AT RS NERES, AREFREINET AL
FGRARENA AR EZLMBF T EREAEARTHEFNE, A THEIEHEAR, Y
RAERGHABERXPREEF Z2HMELH 2 HE LR,

5] : M. [ wonder if Sue will be here by five.

W . Her husband said she left home at half past four. She should be here at ten after five and a

quarter past five at the latest.
Q: What time did Sue leave home?
A) 5 : 10. B) 5 00. C) 4 = 30. D) 5% 15. [0106,07]
[(FE]O. FEWR. LA :Sue WL RGLM Y SERAF BT R T 5k O,

Q@ MEWMZTAMXFEEER

A BRI A RXIHE R T ZE I RFR . W RERAE R
What is the probable relationship between the two speakers?

< EESHBFRRAEN 2003 F 12 ARG XABHIHE 48, TR,
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NG XX EE R, EAEERAEPHAMERFASRHX WL R AT, R
FxexBEAEHACENRE  AHERNEE.
] . W. I heard you got full marks in the maths exams. Congratulations!
M. Thanks. I'm sure you also did a good job.
Q: What’s the probable relationship between the two speakers?
A) A math teacher and his colleague. B) A teacher and his student.
C) A librarian and a student. D) A student and his classmate. [0106,01]
(BE]ID), LBAER, CEHEBLRFFERBTHS. BLR-REEHFLERAH.
also A B ¥ e 6 A

@  HRAl 3 R AY

B 41 BT SR 2 S B R SO B A A FE XA A — R 4 DA AR
(B S, A BT A 3R B I AR AR B4 e TR AR 0 5 R0 IR . LIRS B AR

a. What’s the woman'’s job?
b. What’s the profession of the man?
c. Who is the woman probably speaking to?

INEE X KB E 9 AR kR BT R AU K R AR A TE R R K X R
B H%TFRAFHEREE.

. W. Excuse me. sir. I'm going to send this parcel to London. What's the postage for it?

M. Let me see. It's one pound fifty.
Q: Who is the woman most probably speaking to?
A) A railway porter. B) A taxi driver.
C) A bus conductor. D) A postal clerk. [9706,05]
g D), X P RE AR 36 B . parcel (HRAL) FI postage(HRFE) . a] 0, & R AT RER
e FE R SR 3 A A R A BR R R BR B 1 L i D)o '
S B, TR E A A TR R op  ZE A SRR AR IR IA T
NG E R ARE N R E R R E A WA R SRR A BT
ERANKHA A MEANN S HE, TRFENAKMYEL, RFWFEERA: when,
where, who 1 what, BBt [E b8 A E4TAEXGREE,
GREBENARARE T RHEBNXBREL KA, B oA R B R A Y, £ RE
HARREXLEERETHX. HTASBEGBEMER, EETATREAD TR FER
WEE, REH LA NE R AR A,

YES: 1515

4
R Y 5 3 B 5 (0 T R R L, TR AT 2 5 SR AR L AR SR A EH KA
R LB A SRR . LR R A -

a. What does the man mean?
b. What does the man say about. .. ?
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f4i : W Are you coming with me to the history museum. George?

DRBIEGENRER—AKL

M: T already have my hands full with this book report.
Q: What does the man mean?
A) He must hand in a report about the museum.
B) He has already visited the museum.
() He has to read history book.
D) He is too busy to go with her. [9901 .08
(BRID, MiEPL LB RS SR LGy, B ERA EES T EE. 2R
IECES ARG . BE RS M RN 1 1A B e Bt ) 25 R A8 OK 8 2 i@ 41 have my hands
full FE R AR HUB T X Nl B A RV 5 ik 5t it DL
). W 1'd like to buy a copy of Professor Franklin’s book on sea shells.
M: I'm sorry. Ms. That book has been out of print for some time now.
Q: What does the man say about the book?
6 A) Tt is no longer available.
B) It has been reprinted four times.
() The store doesn’t have it now, but will have it soon.
D) The information in the book is out of date. 9806 .08
[BE] A, KNG EA B R out of print “(BEE4M”. L —AH. B L%,
e 7. RS R A IR XS Z AR AT HERR B I5 B G R s O 3545 15 BLAE ¥ 5T, (HAR
WA DI RE AT,
NG XkBEAYEE, - BEANNER AL B AEEEF FTHAKCR XA, BTET
K@ , WRAETHRNF O, FAXKXMENELETHR X EENFAARTIERLA %,
ERETRHB MESENGFHER, U REMEXGR LXREZHS.

YZ& 5% 11§

v
£ AR IR SR S X A o T A AR ) . X TR N imply SR infer 33 B I B2 ), EEOR
A AR AR X T SRR A A R L A BT S B A I e R R B AR R R

What do we learn from the conversation? f. What'’s their opinion of Linda’s brother? ‘

a,
b. What does the conversation tell us? g. What does the man mean?

¢. Why can’t the woman find the book? h. What can we conclude from the man’s reply? ‘
d. What is the man doing? i. What happened to the woman? ‘
e. What will the weather be like? j. What was the consequence of the accident?

il : M Jack seems to think that this year’s basketball season will be disappointing.
W That’s his opinion. Most others think differently.

Q: What does the woman mean?

A) She shares Jack's opinion. B) Most people will find basketball boring.
) Jack's performance is disappointing. D) She does not agree with Jack.
(BRI D), A, i PR A AR ZAXFEAE . db el W, it AR A 5

ik .




Jparie

P T LTE S 8 Wr Sy P

W GLRGENEREE NS ER S E ML AN, CHSRE  RANEREH S
B, FERAHEBFNRABT, A A B EHE#ATEANHG CENEN EEXEZEYY
SEEIHNTF. FHLRGFAHREUBRA BRI LHMARTARERFLRREER % F
MAERXEFHALERERRSBT. RAXERETR T A ENERE  ERABB S HEHE
BLH. X-NBERELHAMYNTIAF.ER R EABIORETZERN RS,

SeRWRERAEFRBNEEATES AR REFHEYR, XXM hLER
FHZEEBARTHEAMEFHRA-RAFERLE. B  BRAXBNEE, AR Y
FT2EBEARFANETLARART ZRBECAE - HEALBFRAAART, TSR A&
S RREE AR XK R,

RANTHE FEER R ZE B2 AREN TR A RNERR SR REREHT.

77 #BUTHE ,
v
B BUT BRI RHIE A — B AT E B X B E 5 B AN S E AR K B— 1
BRED FE-TRKMOT HAENS KO FZEA but 8, SRR S HEANFK G
WEHE A but RARE R MRS MR E, B AR BB A+ BUT BR”, 2EREHHHM
HARR XA :

a. What do we learn from this conversation”
b. How does the man feel about his job?
c. What did the man do last night?

d. Why can’t Professor Hill answer her questions now?

il W. Can you give a hand, Mike? I want to move a few heavy items into the car.
M: 1’d like to. But T am already five minutes late for my appointment with Mr, Johnson and his
office is on the other side of the campus.
Q: What will the man most probably do?
A) Help the woman move the items.
B) Hurry to Mr. Johnson’s office.
) Help move things to Mr. Johnson's office.
D) Put off his appointment with Mr. Johnson. [0312,06]
(BERIB . AR AHEMARE, —0F8XADXE, D ER st 240 & BUT 8%, B+
BRFRBERA L LR, T EE LRAMELWRERS T, H Mr. Johnson A E X 1R
. BRLL R AT REM A F R D EEEAE Mr. Johnson B9 IR AE ., #t B).
#: M. Is this the check-in counter for Flight 914 to Los Angeles?
W: Yes. But I'm sorry the flight is delayed because of a minor mechanical problem. Please wait
for further notice.
Q: What do we learn from this conversation?
A) The plane’s departure time remains unknown.
B) The man went to a wrong check-in counter.

) The man has just missed his flight.
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D) The plane will leave at 9 : 14. [0206,08 ]

(BRIA ., GZEHENE. &3 X —FEE A — A/ B S R T E R, 5 S /s — 28
.o AE, CHLRER KR RRE . B O D) AT RmHER. XE—4% BUT @R, B—PARER
HE HERPRE-NANGE. MENLEE bt FHMNNE CLEFE=28E . — 2 WKL, U
W HERR O 3 ; AL R, 2 B a] HEBR BYI, = ) 15k — 5 8 0, RO B A U6 0 it ], HE
Bk D)3,

NG FBUT BAREREE _HEANEE XXX BERE bt FEHKYFL,
ME% - REANERE _REALRNWEATFXATA, FEMAR X E ENE but B
KATHWEE, wRUE TX R EREFNFREREFALN. BEATRALRHE —
REAWERE —HEALRMELFHAAMFA EL AT R, T but B4 3 A ## but
HMEWNANIFHAERAAMZEA TULAREGENSHNEN AT HBRTRA £
MaEMAEEEREE,

5 IIRETEEE

v
B 2 75 S R fe K A A R A SO B 1 (BN BT T 5 8 1), R R IR T R H € M, LB 2
BEM, MIE—FRBEE, BT RAEEEREXAEE, TRFT - FL, B X N FLRR
BE. L R XM IEM B A MR & B e R, B WrRETER N .
What does the man/woman mean?
. W. 1 need a car this weekend, but mine has broken down.
M: I'm sorry to hear it, but you can always rent one if you have a licence.
Q: What does the man mean?
A) She can use his car. B) She can borrow someone else’s car.
C) She must get her car fixed. D) She can’t borrow his car. [9306,06]
(BR]ID., MiEdh Lt XNMARKHE TRRMNERT . SHZERERERERAA
R B ERA S TERE MR B, R AE R R UA—-FE. Ll BA
ITHBAHRERNRE S TEHMIEL T L8R, FTUREL EaH, Tk DIEREE.
] &0 BUT 8RS 7 56 5 ia) LAY
{5 : M; Congratulations! I understand you've got a job. When will you start to work?
W: You must be thinking of someone else. I'm still waiting to hear the good news.
Q: What does the woman mean?
A) She doesn’t need the job. B) She hasn'’t got a job yet.
C) She has got a job. D) She is going to start work soon. [9606,02 ]
ER]IB . AR B LU RRR! RAERRE TAET A ARG EBE? XX A R
b R —ERERMAT REESENXNMFHE. B2, —ERMNARI T T RE
HEK. RRARARI THE REEFHBR., FL, KITTHEN DIV ERER.

/7 EUESEY

v
WE A — B E A A ERUE &M X KB H R T RAGE TSR . FRAEAES
ERF AR IE .
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HF X BRI /N, YRS EESAZLRNER AR AREFAHAT . TX

& EFR M =R R0 LR A
OF ZRSPiE S 2 )¥:o): V% SLRCIE

would

should
T+ — il R se e, £4) 4 (g T have + it £ 4

might

5. W. If it hadn’t been snowing so hard, I might have been home by 9 o’clock. 9
M. It’s too bad you didn’t make it. Jane was here and she wanted to see you.
Q: What happened to the woman?
A) She got home before 9 o’clock. B) She had a bad cold.
C) She had a car accident. D) She was delayed. [9606 ,03]
(%] D). PLEXERTF 50 &5 SR A A . BE R s s SO+ 51 B
TT. WA A hadn't been snowing X4t 2 SE AT IHE R, /) o i might have il b i %4537
been (home), F7R . FABMRA.9 SATRARMAEE K. 4 L4007, 77 LAR H, & 1 BA KA R R IR
BHEEAZMH, WA ERT R DRSS EE., Fi, X268 H ikl ZeEna XM, 5
R RIE S P A B S SO R R . A R A A 1 M BE DA SR B X R EESE N 1T )
W SLHMERE . ARat, REZIT 2% R T W L% RS, ERREH A, @ T 2R Y &
KB H  FATA EHE LB A EERSH NG B ELEAR.
@ FRARESLIAE A . wish-+ WA A R LGS 5 if BB SUR A A0 o O R
f5il: W. Mr. Jones, your student Bill shows great enthusiasm for musical instrument.
M: 1 only wish he should have as much for his English lessons.
Q: What do we learn from the conversation about Bill?
A) He has made great progress in his English.
B) He is not very interested in English songs.

C) He is a student of the music department.
D) He is not very enthusiastic about his English lessons. [0106,04]
(] D), HEMHE. &+ Bill xRS ER G, B H3 A B SR RX AR OB T .
H A 0 L Bill X BERAHR A #0, BOE D) .
@ FRAGESEH R I only+ W) (Z5H 5 wish J& KR AR D
5. W. 1 wish my hair was longer.
M: Yes, pity you had it cut. If only you'd listened to me.

Q: What can we learn from the dialogue?

A) The man didn’t want the woman to have her hair cut.
B) The woman followed the man’s advice.

C) The woman is wearing long hair now.
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D) The man didn't care if the woman had her hair cut or not. [9401.09

[HRIA . BT 1 only J5 18 A9 A R A9 2 2 52 B had listened , 6 7% 5 3 25 95 SEAH = .
WA BN BRI F S IR 2 AP WS PR b A T KRR e R T . B
FREREI N AL,

NG EWERMENEENFHTA. CHRABRAERRFLLE WEEZHAT
HHEEGAERXNEERARNG LR, FALEXGX LB XBETHRETHAHIEMN
FAWEAGH AEEREPER AT I HBREE XL,

ERA—RERELA L. AAENARA AT EAFLIANFERASNTR AL T
EAAFIHMENENF B AR T 52 EEARNENA B BAR TSR REL
HMEWENFHE, EHARERBZE, —EEARHAINS FTE—RBBEBRELLEHWE
BEMEAHSTRANEE., U AXEEFANEE 2 X5, AU, EEHEMNE
SEWAEE REANEN2EK,F4ARFLE: ARA, FARKE.

K S RWER

v
MG A SRR H . EORE EEE TR RN — R, SRS FE
i1 Fe s LY A RUA
a. Why don’t you .. .7 d. How about ... ?
b. Why not ... ? e. Wouldn’t ... be wiser?
c¢. Why bother . .. 7 f. Would ... do?

PLE AR RR 2 KB b I F 2R PRSI h ZA RSB MR
UL AR AR X SR B e HNTE R TR A .
(O Why don't you...? 5 Whynot...? BHAH LK ASME, XRMRNE R FCHEZ b
& Why don't you F1 Why not Ji5 T 18], 3 %6 ¢ SR A7 i 23 7 A B 4k, 3] 7 35 51 o g 728 Bl 0% B8 R] 114
) L) 1 {FLAT I 0 X SRR A A 7 e B M 82 PR 7 3 2630 7 T ) 5 A B 0 o
TR B AN S R B R
i : W The movie starts in 5 minutes and there’s bound to be a long line.
M: Why don’t we come back for the next show? I'm sure it would be less crowded.
Q: What is the man suggesting?
A) Coming back for a later show. B) Waiting in a queue.
() Coming back in five minutes. D) Not going to the movie today. [ 9606 .07 |
(=T A, BEavEP RN E the next show, MAEEITH A a later show fE&#, ArlA. IE
QN SCRTF R e R b R A . BRI E KRB AR AEE R —FER. IR
SR Bl b B L H 2 R S
@ Why bother. .. 7 34~ ) BY {15 S & SCHOME AR . aliCfE LR B A Why not do sth. $2 #
BB AT B2 1A not, B EREEM LR E X EREEER . RAERUFE MRS M Why do
sth, $2 480, BORHF A A2 1) nots B A B A HSERR R 0 R E U A
il : W T ought to call Joan and tell her about their reception of this evening.
M. Why bother. you'll see her at lunch.

Q: What does the man mean?
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CRSFEMRER AL Wy PR

A) She can tell Joan when she sees her at noon.
B) She should tell Joan's brother about the reception.
() She must call on Joan after the reception.
D) She may see Joan's brother at lunch. 19906 .10
(BET A, WRAEHT = Why bother %R 2 @ 1, B AW & £ 17 not, JEX FREH E# . HELPR
FOXHES R B BCE AR S . s L R RIS SRS E 2NN, Bt
B AT L RR AV A KT R R B b (B0 T . SO Z B R S KBTHIE T B 2SR R R
1) ft 5F 1315 0ES
3 How about ... 7 BH4ERAKMNADEF R ELM AR, HEITH How about ...7 AR
MER A, XHE AR ER T EHBAZKRS T
5. W. We do need another bookshelf in this room, but the problem is the space for it.
M: How about moving the old dining table to the kitchen?
Q: What does the man suggest they should do?
A) Find a larger room. B) Sell the old table. 11
() Buy two bookshelves. D) Rearrange some furniture. [ 9506 .10
(A% 1 D), W3] How about ... 7 XA EE R e SR R E . AREE AT
IH % s i 5 Jf 5 B B 20 m] AHEBR AT — 500, 2k 11 DY UN IEME R .
@ Wouldn't ... be wiser? #l Would ... do? {C£ T — L@ H, X i i rh S AR I R
T 025 345 2 S 1) ) b M ) — A B i ) R T A T AR R AR AR BRI I o R
S i o B o A R 2 30 0 R A . TR T S0 R UE BT R T
5], W. I'm thinking of taking five courses next semester.
M. Wouldn’t four be wiser?
Q: What does the man mean?
A) There are too many courses offered to students.
B) The woman should take fewer courses next term.
C) The man will take four courses next semester.
D) It is wiser to take more than four courses. [9906 .05
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fil ;M. Did Henry paint the whole house himself?
W. He had it painted. because he doesn’t like climbing ladders.

Q: What do we learn from the conversation?
A) Henry doesn’t like the color. B) Someone else painted the house.
D) Henry painted the house himself.
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() There was no ladder in the house.
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